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(1)

(3)

(5)

(7)

(9)

x?+3x—7=0 [“FRkoe ]

x?—3x—3=0 [“FErk 3 4]

x?—3x+1=0 [ Rk 5 4]

x’+5x—1=0 [Frk 7 5]

x2+x—8=0 [“FErk 9 4]

(2)

(4)

(6)

(8)

(10)

x°+x—3=0

x*—3x—5=0

x*—5x+3=0

x*—5x+5=0

[Erk 2 4]

[“Frk 4 )

[Fhk 6 ]

[Frk 8 4]

x°—3x—8=0 [kl 05FF]
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(1)

(3)

(5)

(7)

(9)

x?—x—7=0 [¥r1 15E]

x?+3x—6=0 [FHe1 34%E]

(x—5)*=21 [“ERk 1 5 4E)

(x+1)*=7 [“ERk 1 7 4FpE)

(x+5)*=3 [“ERk 1 9 4FpE)

(2)

(4)

(6)

(8)

(10)

x*’+5x—3=0

x*’—5x+2=0

(x+7)*=5
(x—2)°=6
(x—3)*=5

[SERk 1 2475

[FRk 1 445)

[FRk 1 6 45)

[FRk 1 8 )

[*ERk 2 0 4EfE)
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(1) (x+2)°=7

(3) x*—6x—5=0

(5) 2x°+3x—4=0

(7) 5x*—3x—1=0

(9)

(x+4)*—=5=0

[ERk 2 14E)E)

[ERk 2 3 4Rk

[“ERk 2 5 4R

[SERk 2 7 )

[ERk 2 9 4FpE]

(2) (x+3)*=11 [ERk 2 2 475

(4) 2x*—5x+1=0 [Frk2 45E]

(6) 5x°—9x+3=0 [Frk2 6FE]

(8) 3x*+4x—1=0 [Frk2 8FE]

(10) 3x?—x—1=0 [¥p3 04EE]
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(1) 2x?°—3x—1=0 [¥p3 1 4] (2) 2x(x+3)=(x+23)?

[ T3 1 eRfE]
(3) 3x°-5x+1=0 [0 2 FEE) (4) 2(x—2)2—3(x—2)+1=0

[ SHokERRTE]
(5) 2x?—5x+1=0 [&Ff134FE] (6) (2x+1)*—7(2x+1)=0

[#hofERRME]
(7) 2x?—3x—3=0 [&Ff4FE] (8) 2(x+3)2~3(x+3)—3=0

a4ERERNE]



